GAR WASH ROLLE

Extremely Long Lasting
Straight Tracking

Quiet

/A\'/\\\
Re—BuiIdabIe

nght Welght Extends
the Llfe of the Conveyor!

4 \Prover;in the Industry. '

O
< v / H
K {Made with UHMW

Paten;_.ed

Includes Garrier Link

/
4 *Excludes Flapan & Hodge

All Excellent Reasons
to buy Vaughan Rollers!

\‘Quality\ Car WasFProducfs\Since 1977' J




8/18/2015

ROLLER REPLAGENENT LISTING

VAUGHAN ROLLERS & PARTS REPLACEMENT FOR |PAGES
Type A3 V-Trac AVW™ 3-4
Type A4 V-Trac AVW™ 5-6
Type AD Standard AVW™ 7-8
Type B6 Belanger® 9-10
Type D Belanger® 11-12
Type DZ Belanger® 13-14
Type E V-Trac Econocraft™ 15-16
Type ED Standard Econocraft™ 17-18
Type F V-Trac Flapan™ 19-20
Type FD Standard Flapan™ 21-22
Type FI Flapan™ 23-24
Type HN6 Hanna™ 25-26
Type HN V-Trac Hanna™ 27-28
Type HND Standard Hanna™ 29-30
Type H3 Hodge™ 31-32
Type H6 Hodge™ 33-34
Type M MacNeil® 35-36
Type P V-Trac Peco™ 37-38
Type PD Standard Peco™ 39-40
Type Q V-Trac PDQ™ 41-42
Type Q Std. PDQ™ 43-44
Type R Ryko® 45-46
Type SM-6 Sonny’s® 47-48
Type SC4 V-Trac Sonny’s® 49-50
Type SD4 Standard Sonny’s® 51-52
Type S4-458 Sonny’s® 53-54
Type S4-Log Sonny’s® 55-56
Type FWP Front Wheel Pull Only 57-58
Install Recommendations for V-Trac System |V-Trac Rollers Only 59-60
Rollers/Conveyor Length Calculations 61




8/18/2015

TYPE A3 VRTRAC

Vaughan Roller Replacement for AVW™ Conveyor

FEATURES:
For Use With X-348 Chain « AllUHMW Frame
UHMW Shaft Sleeve « UHMW Pusher Wheels

1-Piece Urethane Outboards .. UHMW Idle Wheels

™ Quality Car Wash Products Since 1977

313-935-2040 Local, 313-935-2041 Fax or Toll Free 855-425-8071




8/18/2015

TYPE A3 V-TRAC

PARTS BREAKDOWN

NO. | QTY. [ DESCRIPTION PART # NO.| QTY. | DESCRIPTION PART #
1 2 [1/27-20x 3/4” BOLT B1234 7 1 |PIN PIN-2
2 2 | HEAVY WASHER w134 8 2 | SLEEVE SL1X375

25 2 |WEARDISC wD1 9 1 | FRAME X-BODY

3 2 | OUTBOARD CW-A 10 1 |NUT N58
4 2 | PUSHER WHEEL P3X3A 1 1 | CARRIER LINK CL-348
5 2 | 5/8” WASHER WF-436 12 1 | AXEL BOLT AX-575
6 2 | IDLE WHEELS 13X-168 13 1 | SHAFT $75-95

™ Quality Car Wash Products Since 19771




8/18/2015

TYPE A4 V-TRAC

Vaughan Roller Replacement for AVW™ Conveyor

Patented

FEATURES:
« For Use With X-458 Chain « AllUHMW Frame
« UHMW Shaft Sleeve « UHMW Pusher Wheels

. 1-Piece Urethane Outboards . UHMW ldle Wheels

313-935-2040 Local, 313-935-2041 Fax or Toll Free 855-425-8071 5



8/18/2015

/_

TYPE A4 V-TRAC

PARTS BREAKDOWN

NO. | QTY. [ DESCRIPTION PART #
1 2 [1/27-20x 3/4” BOLT B1234
2 2 | HEAVY WASHER w134
25 2 |WEARDISC wD1
3 2 |OUTBOARD CW-A
4 2 | PUSHER WHEEL P3X3A
5 2 | 5/8” WASHER WF436
6 2 | IDLE WHEELS 13X168

NO.| QTY. | DESCRIPTION PART #
7 1 |PIN PIN-2
8 2 | SLEEVE SL1X375
9 1 | FRAME X-BODY
10 1 |NUT N58
1 1 | CARRIER LINK CL-458
12 1 | AXEL BOLT AX-575
13 1 | SHAFT $75-95

-VAUGHAN =

" Quality Car Wash Products Since 1977




8/18/2015

TYPE AD STANDARD

Vaughan Roller Replacement for AVW™ Conveyor

Patented

FEATURES:
« For Use With X-348 Chain « AllUHMW Frame
« UHMW Shatft Sleeve « UHMW Pusher Wheels

« 1-Piece Urethane Outboards . UHMW ldle Wheels

™ Quality Car Wash Products Since 1977 ‘d

313-935-2040 Local, 313-935-2041 Fax or Toll Free 855-425-8071




8/18/2015

TYPE AD STANDARD

PARTS BREAKDOWN

NO. | QTY. | DESCRIPTION PART # NO.| QTY. | DESCRIPTION PART #
1 2 |1/27-20x 3/4” BOLT B1234 7 1 |PIN PIN-2
2 2 | HEAVY WASHER w134 8 2 | SLEEVE SL1X375

2.5 2 |WEARDISC wD1 9 1 | FRAME X-BODY

3 2 | OUTBOARD CW-D 10 1 |NUT N58
4 2 | PUSHER WHEEL P3X325D 1 1 | CARRIER LINK CL-348
5 2 | 5/8” WASHER WF436 12 1 | AXEL BOLT AX-575
6 2 | IDLE WHEELS 13X168 13 1 | SHAFT §75-95

VAUGHAN =

\Quah‘iy Car Wash Products Since 1977




8/18/2015

TYPE B6 -168

Vaughan Roller Replacement Assembly for Belanger® Conveyor

Patented

FEATURES:
o For Use With C-188 Chain « UHMW Pusher Wheels
« UHMW Shaft Sleeves . Triangles
« UHMW Outboards « UHMW Frame

« UHMW Idler Wheels

™ Quality Car Wash Products Since 1977 ‘d

313-935-2040 Local, 313-935-2041 Fax or Toll Free 855-425-8071




8/18/2015

8-G.S 1dVHS €l
881-10 ANIT YIIFYVO
¢-NId Nid
8GN 1NN
AQosg-g9 E[\2-E]
GCEHLTS ELEERN]
09¢HSZ¢I I33HM ¥3al
# 1yvd NOILdI¥OS3a

YSOM 10D AoND .

LL61 wu:._wl &u:not/ £ -~

NMOQHVYd SLdvd

9EP4IM Y3HSYM| ¢ 9
8xXV 11o873axv| S
s/.ea5¢zd 133IHM ¥IHSNd | 2 14
¥-622-MO ayvoaLno| @ €
8ELM d3HSYM | ¥ 4
vezlg Loapexoz-e/b| v b
#1¥vd NOILdIYOS3A | ‘ALD | ON

88)-J 98 3dAL

10



8/18/2015

TYPE D ROLLER

Vaughan Roller Replacement Assembly for Belanger® Conveyor

Simpler Design Eliminates Twisting on Conveyor

Patented

FEATURES:
For Use With X-458 Chain « Less Parts to Rust and Fail
UHMW Shaft Sleeves . Rigid 1-Piece Frame Assembly
1-Piece Urethane Outboards - Easier to Install on Chain

UHMW Pusher Wheels

™ Quality Car Wash Products Since 1977

313-935-2040 Local, 313-935-2041 Fax or Toll Free 855-425-8071

11




8/18/2015

W-3dAL WNIMTHLIMIWVES | 9

was INIIIS| ¢ S

asiv-d 133HM ¥IHSNd | 2 v
# 1¥vd NOILdIYOS3a| ‘ALD | 'ON

£L61 d2UIS S}INPOId YSOM 10D AIOND .

~ ~ ~

8-M0 ayvoaLno| @ €
8LLAM osigyvam| @ sc
PELM YIHSYMAAVIH| ¢ r4
veelg 1109 pIEX 02-2/b| 2 b
# 1dvd NOILdIYOS3A | ‘ALD | ON

NMOUYV2Yd SLdvd

437104 0 3dAl

12



8/18/2015

TYPE DZ ROLLER

Vaughan Roller Replacement Assembly for Belanger® Conveyor

Simpler Design Eliminates Twisting on Conveyor

NEW!

Patented

FEATURES:
. REBUILDABLE « WIDER THAN OUR STANDARD
. For Use With X-458 Chain “D” SERIES
. UHMW Shaft Sleeves . Less Parts to Rust and Fail

. 1 Piece Urethane Outboards - Rigid 1 Piece Frame Assembly

. UHMW Pusher Wheels - Easier to Install on Chain

™ Quality Car Wash Products Since 197'7"

313-935-2040 Local, 313-935-2041 Fax or Toll Free 855-425-8071

13




8/18/2015

£161 d2UIS $]INPOId YSOM 10D AHIPND .

~ ~~

Za-3dAL MNIT HLIM 3WVYd 2 9

Za1s ENEENE 4 S

agiv-d T133HM ¥3HSNd 4 14
# 1yvd NOILdIYOS3A| ‘'ALD | 'ON

ot

q

NMOQHY2Hg SLvd

Z-MO advogaiLno 2 €
SLIAM OSI Yvam Z G'¢e
PELM HIHSVM AAVIH Z 2
veerg 1709 «v/€ X 0¢-.2C/L I I
# 14vd NOILdIYOS3Aa | "'ALD | 'ON
sz ¢

431108 20 3dAL

14



8/18/2015

TYPEE V-TRAC

Vaughan Replacement for Econocraft™ Conveyor Roller

Patented

FEATURES:
. For Use With X-458 Chain . AllUHMW Frame
« UHMW Shaft Sleeves « UHMW Pusher Wheels

. 1 Piece Urethane Outboards « UHMW ldler Wheels

\'Qualif)" Car Wash Products Since 1977 “‘"\

313-935-2040 Local, 313-935-2041 Fax or Toll Free 855-425-8071 15



8/18/2015

TYPEE V-TRAC

PARTS BREAKDOWN

NO. | QTY. | DESCRIPTION PART #
1 2 |1/27-20x 3/4” BOLT B1234
2 2 | HEAVY WASHER w134

25 2 |WEARDISC wD1

3 2 | OUTBOARD CW-A
4 2 | PUSHER WHEEL P3X-275A
5 2 | IDLE WHEEL 125X275
6 1 | SHAFT §75-9

NO.| QTY. | DESCRIPTION PART #
7 2 | SLEEVE SL1X350
8 1 | FRAME E-BODY
9 1 | CARRIER LINK CL-458
10 1 |ROLLPIN PIN2
11 1 | AXEL BOLT AX8
12 2 | WASHER WF436
13 1 |NUT N58

VAUGHAN =

\Quah‘iy Car Wash Products Since 1977

16



8/18/2015

TYPE ED STANDARD

Vaughan Replacement for Econocraft™ Conveyor Roller

Patented

FEATURES:
For Use With X-458 Chain « AllUHMW Frame
UHMW Shaft Sleeves « UHMW Pusher Wheels

1 Piece Urethane Outboards « UHMW ldler Wheels

\Qualify\ Car Wash Products Since 1977 '?";

313-935-2040 Local, 313-935-2041 Fax or Toll Free 855-425-8071

17



8/18/2015

TYPE ED STANDARD

PARTS BREAKDOWN

NO. | QTY. | DESCRIPTION PART # NO.| QTY. | DESCRIPTION PART #
1 2 |1/27-20x 3/4” BOLT B1234 7 2 | SLEEVE SL1X350
2 2 | HEAVY WASHER w134 8 1 | FRAME E-BODY

25 2 |WEARDISC wD1 9 1 | CARRIER LINK CL-458
3 2 | OUTBOARD CW-D 10 1 |ROLLPIN PIN2
4 2 | PUSHER WHEEL P3X3D 11 1 | AXEL BOLT AX8
5 2 | IDLE WHEEL 125-X275 12 2 | WASHER WF436
6 1 | SHAFT §75-9 13 1 |NUT N58

VAUGHAN

™ Quality Car Wash Products Since 1977}

c)/‘
/ﬂ/\é?
5, 1/

18




8/18/2015

TYPE F V-TRAC

Vaughan Roller Replacement for Flapan™ Conveyor

Patented

FEATURES:
. Self Centering . Better Tracking
« For Use With C-188 Chain « Al UHMW Frame

« UHMW Shaft Sleeves e UHMW Pusher Wheels

« 1-Pc. Urethane Outboards Longer Lasting

« Most do not Have Front Wheels

" Quality Car Wash Products Since 1977

313-935-2040 Local, 313-935-2041 Fax or Toll Free 855-425-8071 19



8/18/2015

TYPE F V-TRAC

PARTS BREAKDOWN

NO. [ QTY. [ DESCRIPTION PART # NO. | QTY. | DESCRIPTION PART #
1 2 |1/2»-20x 3/4” BOLT B1234 7 2 | CARRIER LINK CL-188
2 2 | HEAVY WASHER w134 8 1 | AXEL BOLT AX-3

25 2 |wWEARDISC WD118 1 |NUT N58
3 2 | ouTBOARD CW-F 10 1 |ROLLPIN PIN-2
4 2 | PUSHER WHEEL P3F4A 11 1 | SHAFT §78-11.5
5 2 | SLEEVE SL118F5-78 12 2 | WASHER WF436
6 1 FRAME F-BODY

VAUGHAN

™ Quality Car Wash Products Since 1977

20



8/18/2015

TYPE FD STANDARD

Vaughan Roller Replacement for Flapan™ Conveyor

Patented

FEATURES:
. Self Centering . Better Tracking
. For Use With C-188 Chain . All UHMW Frame

« UHMW Shaft Sleeves « UHMW Pusher Wheels
. 1-Pc. Urethane Outboards . Longer Lasting
« Most do Not Have Front Wheels

™ Quality Car Wash Products Since 197 ""35'

313-935-2040 Local, 313-935-2041 Fax or Toll Free 855-425-8071 21



8/18/2015

TYPE FD STANDARD

PARTS BREAKDOWN

NO. | QTY. [ DESCRIPTION PART #
7 2 | CARRIER LINK CL-188
8 1 | AXEL BOLT AX3
9 1 |NUT N58
10 1 | ROLLPIN PIN-2
11 1 | SHAFT §78-11.5
12 2 | WASHER WF436

NO. [ QTY. | DESCRIPTION PART #
1 2 |1/2>-20x 3/4” BOLT B1234
2 2 | HEAVY WASHER w134

25 2 |wWEARDISC WD118

3 2 | ouTtBOARD CW-E
4 2 | PUSHER WHEEL P3F425D
5 2 | SLEEVE SL118F5-78
6 1 FRAME F-BODY

VAUGHAN =

\Quah‘iy Car Wash Products Since 1977

22



8/18/2015

TYPE Fl V-TRAC

Vaughan Roller Replacement for Flapan™ Conveyor With Idler

FEATURES:
. Self Centering . Better Tracking
« For Use With C-188 Chain . All UHMW Frame
« UHMW Shaft Sleeves « UHMW Pusher Wheels
« 1-Pc. Urethane Outboards . Longer Lasting
. Triangles « UHMW (dler Wheels

™ Quality Car Wash Products Since 1977]

313-935-2040 Local, 313-935-2041 Fax or Toll Free 855-425-8071

23



8/18/2015

TYPE Fl V-TRAC

PARTS BREAKDOWN

11

N

5
1
11
10
NO.| QTY. |DESCRIPTION PART # NO. | QTY. | DESCRIPTION PART #

1 2 1/2”-20 x 3/4” BOLT B1234 7 1 ROLL PIN PIN2
2 2 HEAVY WASHER W134 8 1 FRAME F-BODY

2.5 2 WEAR DISC WD118 9 1 AXEL BOLT AX-8
3 2 OUTBOARD CW-F 10 1 NUT N58
4 2 PUSHER WHEEL P3F4A 11 2 WASHER WF436
5 2 IDLER WHEEL 1250F260 12 2 CARRIER LINK CL-188
6 1 SHAFT S§78-11.5 13 2 SLEEVE SL1185-78

VAUGHAN =

\Quah‘iy Car Wash Products Since 1977

24



8/18/2015

TYPE HN6

Vaughan Roller Replacement Assembly for Hanna™ Conveyor

Patented

FEATURES:
. For Use With D-88K Chain « UHMW Idler Wheels
« UHHW Sleeves . Steel Frame
« UHMW Outboards « UHMW Pusher Wheels

™ Quality Car Wash Products Since 197'7"

313-935-2040 Local, 313-935-2041 Fax or Toll Free 855-425-8071

25




8/18/2015

£L61 92UIS S}INPOIJ YSOM 40D AionD .

88-10 WNMYAINYYD | b L
8SN InN| b oL
98 EINUAE B 6
62e-0L1s anaas| v 8
SLZH-STI J3aHMEIal| e L
#1dvd NOILdI¥OS3a| 'ALD | 'ON

!l

9EP4AM ¥3HSYM| ¢ 9

8-XV 1oa1axv| S

¥NHSZZd I33HM ¥3HSNd | 2 v

¥NH0SZ-MO ayvoaLino| @ €

8EIM YIHSYMAAVIH| ¥ 4

— vezig 11089 v X022/ | ¢ b
# 14vd NOILdIYOS3A | 'ALD [ 'ON

S

zzéﬁg LAV

! 5

NH 3dAl

26



8/18/2015

TYPE HN V-TRAC

Vaughan Replacement Roller for Hanna™ Conveyor

Patented

FEATURES:
Self Centering « Better Tracking
For Use With D-88K « Al UHMW Frame
UHMW Shaft Sleeves « UHMW Pusher Wheels
1 Piece Urethane Outboards « UHMW ldler Wheels
Longer Lasting « Quiet

| m——

™ Quality Car Wash Products Since 1977 ‘

313-935-2040 Local, 313-935-2041 Fax or Toll Free 855-425-8071

27



8/18/2015

TYPE HN V-TRAC

PARTS BREAKDOWN

NO.| QTY. [DESCRIPTION PART # NO.| QTY. |DESCRIPTION PART #
1 2 |1/2»-20x 3/4” BOLT B1234 7 1 FRAME H-BODY
2 2 |HEAVY WASHER w134 8 1 AXEL BOLT AX-8
25 2 |wWEARDISC WD 9 1 NUT N58

3 2 | OUTBOARD CW-A 10 1 ROLL PIN PIN-2

4 2 | PUSHER WHEEL P3H275A 11 1 SHAFT §75-9

5 2 | IDLER WHEEL 125-H275 12 1 CARRIER LINK CL-88

6 2 |WASHER WF436 13 2 SLEEVE SL1-H375

VAUGHAN =

\Quah‘iy Car Wash Products Since 1977

28




8/18/2015

TYPE HND STANDARD

Vaughan Replacement Roller for Hanna™ Conveyor

Patented

FEATURES:
. Self Centering . Better Tracking
« For Use With D-88K or X-458 Chain . All UHMW Frame
« UHMW Shaft Sleeves « UHMW Pusher Wheels
- 1 Piece Urethane Outboards « UHMW Idler Wheels
« Longer Lasting « Quiet

313-935-2040 Local, 313-935-2041 Fax or Toll Free 855-425-8071

29




8/18/2015

TYPE HND STANDARD

PARTS BREAKDOWN

NO. | QTY. | DESCRIPTION PART #

1 2 |1/27-20 x 3/4” BOLT B1234

2 2 HEAVY WASHER w134 NO.| QTY. | DESCRIPTION PART #
2.5 2 |WEARDISC wD1 8 1 AXEL BOLT AX8

3 2 | OUTBOARD CW-D 9 1 NUT N58

4 2 | PUSHER WHEEL P3-H3D 10 1 ROLL PIN PIN-2

5 2 | IDLER WHEEL 125-H275 11 1 SHAFT $75-9

6 2 | WASHER WF436 12 1 CARRIER LINK CL-88

7 1 FRAME H-BODY 13 2 SLEEVE SL1-H375

VAUGHAN

™ Quality Car Wash Products Since 1977

30




8/18/2015

H3 ROLLER

Vaughan Roller Replacement Assembly for Hodge™ Conveyor

Patented

FEATURES:
. For Use With Log Chain . Less Parts to Rust and Fail
« UHMW Shaft Sleeves . Rigid 1 Piece Frame Assembly
« UHMW Outboards . Easier to Install on Chain
« UHMW Pusher Wheels . Lighter Weight

\Quality\ Car WasFProducfs\Since 1977

313-935-2040 Local, 313-935-2041 Fax or Toll Free 855-425-8071 31




8/18/2015

£L61 92UIS S}2NPOIJ YSOM 40D ApjonDd .

91N vL-9LIL 1NN L
YSZH-T3HS LHOIY 113HS 9
EH-INVYS EIUASE I el ISZH-113HS 143717113HS S
08€H8LL1S 8L11S 40 IA3TIS| @ 2L HZ.L2ZHYd TIIHM YIHSND | 2 v
SZNId SZXBIENId| ¢ L H-MO ayvoalno| @ €
§zz-9LL9| SL109 Wb XV 9LL| 2 oL 8L1LaM osiayvam| e Se
9EP49LLM YIHSYM| ¢ 6 vELM YIHSYMAAVIH| ¢ 4
9lLavl avi| 1 8 veeld 1108 b€ x02-2/L| 2 I
#1dvd NOILdI¥OS3a| ‘ALD | ‘'ON #1¥vd NOILdIYOS3A|'ALD | ‘ON
g¢
[4

e 14

NMOGNYUg SLAvd

d37110d €H

32



8/18/2015

H6 ROLLER

Vaughan Roller Replacement Assembly for Hodge™ Conveyor

Patented
FEATURES:
. For Use With Log Chain « Less Parts to Rust and Fail
« UHMW Shaft Sleeves . Rigid 1 Piece Frame Assembly
« UHMW Outboards . Easier to Install on Chain
« UHMW Pusher Wheels . Lighter Weight

\*Quah‘fy\ Car Wash Products Since 1977 .Iw

313-935-2040 Local, 313-935-2041 Fax or Toll Free 855-425-8071

33



8/18/2015

“iJ2261 22urs 519npoid Ysopm 40D Apjond .

H9-HSO LHOIM T3HS | | 4 L€-9HSed 133IHMY¥IHSNd | 2 9
19-HSO 143171M3HS | b L 9EV4-9LLM Y3IHSYM| ¢ S
9lLavL avioad| oL §zez-91.9 Loa.kL| 2 14
9LLN INN| @ 6 LEH-G22-MO ayvoaino| v €
9H-aINVYS ENIUAE Y 8 VELM YIHSYMAAVIH| 9 [4
SLe-171S INIIIS| 9 L veela 1708 b€ X02-2/k| 9 I
#1dvd NOILdI¥OS3a| 'ALD | 'ON # 1dvd NOILdIYOS3A | ‘ALD | 'ON
€

NMOQHY2ug SL¥vd

(42

4371104 9H

34



8/18/2015

TYPE M ROLLER

Vaughan Roller Replacement for MacNeil® Conveyor

Patented

FEATURES:
« For Use With X-458 Chain . Less Parts to Rust and Fail
« UHMW Shaft Sleeves . Rigid 1 Piece Frame Assembly
. 1 Piece Urethane Outboards . Easier to Install on Chain

« UHMW Pusher Wheels

™ Quality Car Wash Products Since 1977

313-935-2040 Local, 313-935-2041 Fax or Toll Free 855-425-8071 35



8/18/2015

2261 22uls 519npOId Ysom 10D Aono .

~ ~

W-3dAL WNMTHLIMAWVES | L 9
Wis anaas| e S
acLinvd 13IHM ¥IHSNd | 2 14

# 14vd NOILdI¥OS3a| ‘ALO | ‘'ON

8-MO ayvoalno| @ €
8L1LaM os|Igyvam| ¢ se

vELM YIHSVMAAVIH| ¢ 4

veelg 11089 pIEX02-2/L| 2 b
#1¥vd NOILdIYOS3A| ‘ALD | 'ON

NMOQXV3¥d SLHYd

43TI0¥ W 3dAl

36



8/18/2015

TYPE P V-TRAC

Vaughan Roller Replacement for Peco™ Conveyor

Patented

FEATURES:
. For Use With X-458 . AllUHMW Frame
« UHMW Shaft Sleeves « UHMW Pusher Wheels

. 1 Piece Urethane Outboards « UHMW ldler Wheels

VAUGEAN =

> Quality Car Wash Products Since 1977 ‘

313-935-2040 Local, 313-935-2041 Fax or Toll Free 855-425-8071

37



8/18/2015

TYPE P V-TRAC

PARTS BREAKDOWN

NO. |QTY. [ DESCRIPTION PART #
1 2 1/2”-20 x 3/4” BOLT B1234
2 2 HEAVY WASHER W134

2.5 2 WEAR DISC WD1

3 2 OUTBOARD CW-A
4 2 PUSHER WHEEL P3X275A
5 2 IDLE WHEEL 125X275
6 2 WASHER WF436

NO. | QTY. | DESCRIPTION PART #

7 1 AXEL BOLT AX-8

8 1 NUT N58

9 2 SLEEVE SL1H35
10 1 FRAME X-BODY
11 1 CARRIER LINK CL-458
12 1 PIN PIN

13 1 SHAFT §759

-VAUGHAN =

" Quality Car Wash Products Since 1977

38




8/18/2015

TYPE PD STANDARD

Vaughan Roller Replacement for Peco™ Conveyor

Patented

FEATURES:

« For Use With X-458 or D88K (H-Body) . All UHMW Frame
« UHMW Shaft Sleeves « UHMW Pusher Wheels
« 1 Piece Urethane Outboards « UHMW ldler Wheels

™ Quality Car Wash Products Since 1977 »\

313-935-2040 Local, 313-935-2041 Fax or Toll Free 855-425-8071 39



8/18/2015

TYPE PD STANDARD

PARTS BREAKDOWN

NO. |QTY. | DESCRIPTION PART # NO.| QTY. | DESCRIPTION PART #
1 2 1/2”-20 x 3/4” BOLT B1234 7 1 AXEL BOLT AX8
2 2 HEAVY WASHER W134 8 1 NUT N58

2.5 2 WEAR DISC WD1 9 2 SLEEVE SL1-H35
3 2 OUTBOARD CW-D 10 1 FRAME X-BODY
4 2 PUSHER WHEEL P3X3D 11 1 CARRIER LINK CL-458
5 2 IDLE WHEEL 125X275 12 1 SHAFT §75-9
6 2 WASHER WF436 13 1 PIN PIN-2

VAUGHAN

\Qualify Car Wash Products Since 1977

40



8/18/2015

TYPE Q V-TRAC

Vaughan Roller Replacement for PDQ™ Conveyor

Patented
FEATURES:
For Use With Log Chain . Less Parts to Rust and Fail
UHMW Shaft Sleeves . Rigid 1 Piece Frame Assembly
1 Piece Urethane Outboards . Easier to Install on Chain

UHMW Pusher Wheels

\Qualify\ Car WasFProducts\Since 1977

313-935-2040 Local, 313-935-2041 Fax or Toll Free 855-425-8071

41



8/18/2015

9LLN 1NN 4 cl
9EV4-9LLM dIHSYM 4 13
§¢c-91.9 11708 4 oL
91.8avL avi 2 6
GLED8LLOTS 1YOHS 3IA33TS I 8
[oa= VA E] 14VHS H1IM JNVY4d 2 L

# 1yvd NOILdIYOS3A| 'ALD | 'ON

€
S'¢

£L61 d2UIS S}2NPOIJ YSOM 40D ApjonDd .

G.5081L1L01S ONO1 3IAITTS I 9
40.y0€d| ONOTIIIHM ¥3IHSNd I S
40.20€d | LHYOHS 133HM d3HSNd 2 v

4-MO ayvoaLno [4 €
8LIaM 0SIa dvam [4 S'¢C
vELM YIHSVM AAVIH [4 [4
veela 1109 v/ X 0¢-.c/t [4 2
# 1dvd NOILdIYOS3A| ‘ALD [ 'ON

NHOYHg SLHvd

VUL D AL

M
&

@

42



8/18/2015

TYPE Q STANDARD

Vaughan Roller Replacement for PDQ™ Conveyor

Patented

FEATURES:
« For Use With Log Chain . Less Parts to Rust and Fail
« UHMW Shaft Sleeves . Rigid 1 Piece Frame Assembly
« 1 Piece Urethane Outboards . Easier to Install on Chain
« UHMW Pusher Wheels . Link Not Included

VAUGEAN =

> Quality Car Wash Products Since 1977 ‘

313-935-2040 Local, 313-935-2041 Fax or Toll Free 855-425-8071 43



8/18/2015

9LLN INN| 2 42
9EV4-9LLM YIHSYM| 2 L
§zz-91.9 1lo8| <z ol
9LLavVL avi| 6
SLE08LLO1S LYOHS IAITTIS| L 8
O-3WVYY |  LIVHSHLIMIWVHS| 1 L
#1dvd NOILdI¥OS3a| ‘ALD | 'ON

G'¢
I
-y )

J2261 93us $15npoid Ysom 10D AOND .

N

G/S08LLOTS ONO1 3IAIITS 3 9
3562-0¢d A33HM ¥3HSNd 3 S
35610-€d A33IHM ¥3HSNd 3 14

3I-MO ayvodaLno 4 €
SLIAM oSIa dvam 4 G'¢
vELM HIHSVM AAV3IH 4 4
veera 11709 «¥/ X 0¢-.2/L 4 3
# 18vd NOILdI¥OS3a| "ALO | ‘ON
8
c
|
N

o

NHOUNY3¥E SLAYVd

O 3AdAL

44



8/18/2015

TYPE R X458

Vaughan Replacement Conveyor Roller for Ryko®

Patented
FEATURES:
Self Centering . Better Tracking
For Use With X-458 Chain « UHMW Pusher Wheels
UHMW Shaft Sleeves « UHMW ldler Wheels

Longer Lasting

VAUGEAN =

> Quality Car Wash Products Since 1977 ‘

313-935-2040 Local, 313-935-2041 Fax or Toll Free 855-425-8071

45




8/18/2015

TYPER

PARTS BREAKDOWN

NO.| QTY. [ DESCRIPTION PART #
1 1/2°-20 x 3/4” BOLT B1234
2 4 | WASHER w138
3 1 FRAME FRAME-R
4 2 | IDLER WHEEL 125-RX432
5 2 | PUSHER WHEEL P25-432-RX
6 4 | SLEEVE SL1RX375

=

VAUGHAN

™ Quality Car Wash Products Since 197'7"

46



8/18/2015

TYPE SM-6

Vaughan Roller Replacement for Sonny’s® Conveyor

Patented

FEATURES:
« For Use With SC78 Chain « AllUHMW Frame
. 1-Piece Removable Chain Link « UHMW Pusher Wheels
« UHMW Shaft Sleeve « UHMW ldle Wheels
. Quieter & Longer Lasting « All Re-buildable

™ Quality Car Wash Products Since 1977

313-935-2040 Local, 313-935-2041 Fax or Toll Free 855-425-8071 47




8/18/2015

TYPE SM-6

PARTS BREAKDOWN

NO. | QTY. |DESCRIPTION PART # NO.| QTY. | DESCRIPTION PART #
1 2 |1/27-20x 3/4” BOLT B1234 7 2 |ROLLPIN PIN-38
2 2 | WASHER w138 8 4 | SLEEVE SL1-325
3 2 | PUSHER WHEEL P25SM4 9 1 | FRAME SM-6BODY
4 2 | IDLE WHEEL 125-225H 10 1 |NUT N58
5 2 | WASHER WF436 11 1 | CARRIER LINK CL-78
6 2 | SHAFT $75-8 12 1 | AXEL BOLT AX-7
13 2 | OUTBOARD WHEEL CW-275-SM4

.VAUGHAN =

" Quality Car Wash Products Since 1977]

48




8/18/2015

TYPE 364 WTRAC

Vaughan Replacement Roller for Sonny’s Conveyor

Patented

FEATURES:
. Self Centering . Better Tracking
« For Use With SC78 or X-458 Chain . All UHMW Frame
« UHMW Shaft Sleeves « UHMW Pusher Wheels
- 1 Piece Urethane Outboards « UHMW Idler Wheels
. Longer Lasting « Quiet

JERE—

> Quality Car Wash Products Since 1977 ‘\

313-935-2040 Local, 313-935-2041 Fax or Toll Free 855-425-8071

49




8/18/2015

TYPE 504 V-TRAC

PARTS BREAKDOWN

NO.| QTY. |DESCRIPTION PART # NO.| QTY. | DESCRIPTION PART #
1 2 1/2”-20 x 3/4” BOLT B1234 7 1 FRAME H-BODY
2 2 HEAVY WASHER W134 8 1 AXEL BOLT AX7
2.5 2 WEAR DISC WD1 9 1 NUT N58

3 2 OUTBOARD CW-A 10 1 ROLL PIN PIN-2

4 2 PUSHER WHEEL P3H275A 11 1 SHAFT §75-9

5 2 IDLER WHEEL 125H225 12 1 CARRIER LINK CL-78

6 2 WASHER WF436 13 2 SLEEVE SL1H375

—

VAUGHAN.

™ Quality Car Wash Products Since 1977]

50



8/18/2015

TYPE 504 STANDARD

Vaughan Replacement Roller for Sonny’s Conveyor

Patented

FEATURES:

Self Centering « Better Tracking

For Use With SC78 or X-458 Chain . All UHMW Frame
UHMW Shaft Sleeves « UHMW Pusher Wheels
1 Piece Urethane Outboards « UHMW ldler Wheels
Longer Lasting « Quiet

™ Quality Car Wash Products Since 197'7"

313-935-2040 Local, 313-935-2041 Fax or Toll Free 855-425-8071

51




8/18/2015

TYPE 504 STANDARD

PARTS BREAKDOWN

NO. [ QTY. [ DESCRIPTION PART # NO.| QTY. |DESCRIPTION PART #
1 2 |1/2»-20x 3/4” BOLT B1234 7 1 FRAME H-BODY
2 2 | HEAVY WASHER w134 8 1 AXEL BOLT AX-7

25 2 |wWEARDISC wD1 9 1 NUT N58
3 2 | ouTBOARD CW-D 10 1 ROLL PIN PIN-2
4 2 | PUSHER WHEEL P3H3D 1 1 SHAFT $75-9
5 2 | IDLER WHEEL 125H225 12 1 CARRIER LINK CL-78
6 2 |WASHER WF436 13 2 SLEEVE SL1H375
—

VAUGHAN =

\*Quah'fy Car Wash Products Sincé 1977 . ‘iﬁ’

52



8/18/2015

TYPE 54 458

Vaughan Replacement Roller for Sonny’s Conveyor

Patented

FEATURES:
« For Use With X-458 Chain . All UHMW Shell
« UHMW Shaft Sleeves « UHMW Pusher Wheels
« Quieter & Longer Lasting « UHMW Outboard Wheels

™ Quality Car Wash Products Since 1977

313-935-2040 Local, 313-935-2041 Fax or Toll Free 855-425-8071 53



8/18/2015

TYPE 54 458

PARTS BREAKDOWN

-VAUGHAN,

\Quah'fy Car Wash Products Since 1977

NO. [ QTY. | DESCRIPTION PART # NO.| QTY. [DESCRIPTION PART #
1 4 |1/27-20 x 3/4” BOLT B1234 6 4 | SLEEVE SL1-325
2 4 | WASHER w138 7 1 SHELL RIGHT CS SR4-458
3 2 | PUSHER WHEEL P255-4 8 1 SHELL LEFT CS SL4-458
4 2 | OUTBOARD WHEEL CW2755-4 9 2 [ROLLPIN PIN-38112
5 1 FRAME/LINK/SHAFT $4-458-FRAME

54



8/18/2015

TYPE 54 LOG

Vaughan Replacement Roller for Sonny’s® Conveyor

Patented
FEATURES:
For Use With Log Chain . All UHMW Shell
UHMW Shaft Sleeves « UHMW Pusher Wheels
Quieter & Longer Lasting « UHMW Outboard Wheels

™ Quality Car Wash Products Since 1977 ‘d

313-935-2040 Local, 313-935-2041 Fax or Toll Free 855-425-8071

55



8/18/2015

TYPE 54 LOG

PARTS BREAKDOWN

~. —— =
Quality Car Wash Products Since 1977

NO. | QTY. | DESCRIPTION PART # NO.| QTY. | DESCRIPTION PART #
1 4 1/2”-20 x 3/4” BOLT B1234 6 4 SLEEVE SL1-325
2 4 WASHER w138 7 1 SHELL RIGHT CS SR4-LOG
3 2 PUSHER WHEEL P255-4 8 1 SHELL LEFT CS SL4-LOG
4 2 OUTBOARD WHEEL CW275S-4 9 2 ROLL PIN PIN-38112
5 1 FRAME/LINK/SHAFT S4-L-FRAME

56



8/18/2015

TYPE FWP V-TRAC

Vaughan Replacement Roller for Front Wheel Pull Conveyor Only

Patented

FEATURES:
Self Centering . Better Tracking
For All Chain Types . All UHMW Frame
UHMW Shaft Sleeves « UHMW Pusher Wheels
1 Piece Urethane Outboards « UHMW Idler Wheels
Longer Lasting « Quiet

™ Quality Car Wash Products Since 1977

313-935-2040 Local, 313-935-2041 Fax or Toll Free 855-425-8071

57




8/18/2015

TYPE FWP V-TRAC

PARTS BREAKDOWN

NO.| QTY. [DESCRIPTION PART # NO.| QTY. | DESCRIPTION PART #
1 2 |1/27-20 x 3/4” BOLT B1234 7 1 FRAME H-BODY
2 2 |HEAVY WASHER w134 8 1 AXEL BOLT AX8
25 2 |WEARDISC wD118 9 1 NUT N58
3 2 |OUTBOARD CW-H 10 1 ROLL PIN PIN-2
4 2 | PUSHER WHEEL P4H282H 11 1 SHAFT $78-9
5 2 | IDLER WHEEL 125H275 12 1 CARRIER LINK CL-88
6 2 |WASHER WF436 13 2 SLEEVE SL118H375

VAUGHAN =

\Quah‘iy Car Wash Products Since 1977

58



8/18/2015

1) MATERIALS NEEDED:

1/2” x 1-1/2” Hot Roll Steel (Conveyor Length x 2)

2’ 1/2” x 1” Steel Bar (For Forks)
Set of Clamps (3-Pcs. Provided by Vaughan) See Picture Below
Welder

2) OVERVIEW:

Conveyor Top Deck View

3)

CLAMPS:

www.vaughanind.com 313-935-2041 Fax or Toll Free 855-425-8071 59



8/18/2015

5) ROLLER-UP DOOR:

Start Bars 1/2” from Opening

45° Cut on Bars to Start

6) EXIT DOOR:
End Bars 1/2” From Opening at Trap Door
Welding

www.vaughanind.com 313-935-2041 Fax or Toll Free 855-425-8071 60



8/18/2015

LENGTH

CONVEYOR ROLLER SPACING
LENGTH (FT.) 3’6” 5°0” 74’ 15’0
30 18 12 9 4
35 20 14 10 5
40 23 16 1 6
45 26 18 13 6
50 29 20 14 7
55 32 22 16 8
60 35 24 17 8
65 38 26 18 9
70 40 28 20 10
75 43 30 21 10
80 46 32 22 1
85 49 34 24 12
90 52 36 25 12
95 55 38 26 13
100 58 40 28 14
105 60 42 29 14
110 63 44 31 15
115 66 46 32 16
120 69 48 33 16
125 72 50 35 17
130 75 52 36 18
135 78 54 37 18
140 80 56 39 19
145 83 58 40 20
150 86 60 41 20
155 89 62 43 21
160 92 64 44 22

HOW TO CALCULATE ROLLERS/CONVEYOR
Length of Conveyor x 2 Divide by Roller Spacing = Number of Rollers per Conveyor
45 ft. x 2/ 3°6” (aka 3.5) = 25.71, or 26 Rollers

(Round up to the next whole number)

HOW TO CALCULATE CHAIN SPEED IN CARS/HOUR

\Quality\ Car WasFProducfs\Since 1977

www.vaughanind.com 313-935-2041 Fax or Toll Free 855-425-8071




